
N = 261

261 circles in a 1x0.30000 rectangle

radius =   0.017590096167
ratio  =  17.055051726605

density  = 0.845679012904
contacts = 671

 E.SPECHT
05-AUG-2010

N = 262

262 circles in a 1x0.30000 rectangle

radius =   0.017567976467
ratio  =  17.076525606764

density  = 0.846785458270
contacts = 407

 E.SPECHT
05-AUG-2010

N = 263

263 circles in a 1x0.30000 rectangle

radius =   0.017524718796
ratio  =  17.118676966670

density  = 0.845836617300
contacts = 677

 E.SPECHT
05-AUG-2010

N = 264

264 circles in a 1x0.30000 rectangle

radius =   0.017501472748
ratio  =  17.141414572246

density  = 0.846801730797
contacts = 698

 E.SPECHT
05-AUG-2010

N = 265

265 circles in a 1x0.30000 rectangle

radius =   0.017494495316
ratio  =  17.148251183398

density  = 0.849331690104
contacts = 727

 E.SPECHT
06-AUG-2010

N = 266

266 circles in a 1x0.30000 rectangle

radius =   0.017440456641
ratio  =  17.201384469159

density  = 0.847278055330
contacts = 668

 E.SPECHT
06-AUG-2010

N = 267

267 circles in a 1x0.30000 rectangle

radius =   0.017421656366
ratio  =  17.219947041703

density  = 0.848630752919
contacts = 520

 E.SPECHT
06-AUG-2010

N = 268

268 circles in a 1x0.30000 rectangle

radius =   0.017411393668
ratio  =  17.230096896420

density  = 0.850805878397
contacts = 689

 E.SPECHT
06-AUG-2010

N = 269

269 circles in a 1x0.30000 rectangle

radius =   0.017385839075
ratio  =  17.255422571873

density  = 0.851475603053
contacts = 716

 E.SPECHT
06-AUG-2010

N = 270

270 circles in a 1x0.30000 rectangle

radius =   0.017379574570
ratio  =  17.261642326000

density  = 0.854025158502
contacts = 745

 E.SPECHT
06-AUG-2010


